
Whats in the Gift A' ( )
What number is in each gift?

8 × 3 = 3 × 10 = 12 × 6 =

6 × 2 = 4 × 3 = 4 × 2 =

10 × 3 = 5 × 6 = 12 × 7 =

8 × 11 = 3 × 5 = 7 × 7 =

8 × 4 = 4 × 9 = 3 × 3 =

3 × = 15 6 × = 42 11 × = 99

7 × = 84 10 × = 100 9 × = 63

8 × = 16 12 × = 48 11 × = 44

4 × = 20 4 × = 36 12 × = 144

9 × = 45 9 × = 54 11 × = 22

× 10 = 70 × 2 = 6 × 3 = 36

× 9 = 18 × 3 = 33 × 9 = 45

× 3 = 24 × 3 = 12 × 10 = 20

× 4 = 48 × 4 = 16 × 6 = 48

× 12 = 24 × 9 = 36 × 6 = 48

Merry Christmas from Math-Drills.com!



Whats in the Gift A  Answers' ( )
What number is in each gift?

8 × 3 = 24 3 × 10 = 30 12 × 6 = 72

6 × 2 = 12 4 × 3 = 12 4 × 2 = 8

10 × 3 = 30 5 × 6 = 30 12 × 7 = 84

8 × 11 = 88 3 × 5 = 15 7 × 7 = 49

8 × 4 = 32 4 × 9 = 36 3 × 3 = 9

3 × 5 = 15 6 × 7 = 42 11 × 9 = 99

7 × 12 = 84 10 × 10 = 100 9 × 7 = 63

8 × 2 = 16 12 × 4 = 48 11 × 4 = 44

4 × 5 = 20 4 × 9 = 36 12 × 12 = 144

9 × 5 = 45 9 × 6 = 54 11 × 2 = 22

7 × 10 = 70 3 × 2 = 6 12 × 3 = 36

2 × 9 = 18 11 × 3 = 33 5 × 9 = 45

8 × 3 = 24 4 × 3 = 12 2 × 10 = 20

12 × 4 = 48 4 × 4 = 16 8 × 6 = 48

2 × 12 = 24 4 × 9 = 36 8 × 6 = 48

Merry Christmas from Math-Drills.com!


